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4 660136.50 2323054.63 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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<7<5D5=<= (>?D545?5=<=), 0.10 -
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1 659788.91 2336036.08 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 659801.46 2336036.68 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 659804.68 2336036.71 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 659804.64 2336040.71 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 659801.34 2336040.68 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 659788.72 2336040.07 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 659788.91 2336036.08 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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1 658734.13 2326427.61 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 658727.26 2326416.82 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 658730.63 2326414.67 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 658737.50 2326425.46 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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�5>7=4G5=<5
E4D4>F5D=OE
F>G5> 7D4=<F

�>>D4<=4FO, < �5F>4 >?D545?5=<O >>>D4<=4F <
ED54=OO >644D4F<G5E>4O
?>7D5L=>EFL ?>?>65=<O

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5
74>D5??5=<O

F>G><X Y

1 2 3 4 5

1 668924.95 2328862.75 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

2 668922.36 2328856.50 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

3 668923.26 2328854.60 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

4 668882.79 2328849.17 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

5 668877.09 2328876.64 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

6 668872.67 2328931.28 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

7 668879.63 2328931.83 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

8 668879.54 2328937.75 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

9 668875.54 2328937.69 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

10 668875.57 2328935.53 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

11 668868.36 2328934.95 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

12 668873.13 2328876.07 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

13 668879.63 2328844.72 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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14 668925.33 2328850.84 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

15 668928.43 2328853.03 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

16 668926.73 2328856.61 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

17 668928.65 2328861.22 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -

1 668924.95 2328862.75 �5F>4 E?GF=<>>6OE 75>457<G5E><E
<7<5D5=<= (>?D545?5=<=), 0.10 -
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